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- Calculators are not permitted for this test.

- Show all work unless the problem requires only a short answer.

- There are problems on both front and back of the pages.

- If you need scrap paper, ask your instructor. You may not use your own. If you do use scrap
paper, make sure to hand it in at the end of the exam.

1. (24 points) Solve each of the following inequalities for x. Express all answers using interval

notaton. .
Horoes T K S -2 *2.
I (@) 2x®* +3x2 - 18x—27<0 | . ! _
7(2x s 2 ~ AlRa-2) £0 S e @ o &) %@
) - -3 =
(vifﬁz’m@\%{zﬂ,ﬁ 3\3 < O 2 z

()t 2) (x=2 (2% +2Y = O
(by —6]7x — 2| < —48

|-\ # 9
< -& T4 i
“}K,Z?/f{ of R,
x 7 Y7 e X= T3
| -
€)3~2(x—-5>8(x-5+12x | YN
03T “ » « 4532 %(“@ﬁ;‘i‘*%"zz%ﬁ\
3 = 2Zx 10 > &5 -UC +12x 8 =5 \ /
'3 0%,%'» 0% +12Zx
53 >Z2x
(d)?::zll ' -=.*‘><~§~ 1 5 >0
| K= S 5 15
k( %__,5 ....,3—%» \‘%"G )
e —
: . = ﬁg
<b, é«:»j i
L » [P .
3x=5~4(x=5) «




{y>3!x—2|—1
-x+y<1

2. (16 points) Graph the solution set to the following system of inequalities. Algebraically find the
vertices of the system and label them on your graph.
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4. (16 points) Solve each system of equations. Express your answers as ordered pairs.
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3. (16 points) Evaluate each of the following expressions
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6. (20 points) Solve each of the following equations for x.
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